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Pre-Calc
Polar Worksheet
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Convert the ordered pairs to polar form
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quation to a polar equation.
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Convert the polar equation to a rectangular equation, and sketch the graph.
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5. 4y+x=2
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Multiple Choice. Write your answer in the blank.
E 10. The graph of 9:5—3{ isa

(A) cardioid (BI ‘imacon with aloop (C) limacon without a loop

(D) circle
T)) 11. The graph of »=2+3cos8 isa

12. The graph of » =3+3sin@ isa
@—« cardioid (B) limacon with a loop

(A) cardioid W} (C) limacon without a loop
(D) circle (E) line

(C) limacon without a loop

(D) circle (E) line
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(A) parabola (B cllipse’ (C) hyperbola ?”cb U=
(D) circle (E) line C) l é ~ CL\Wf
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Make a table and graph. ,
14. r=3+3sin@ 15. r* =9cos26
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17. ¥ = 4cos30
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